Problem 1.  Assume that {System 1, System 2} represent distributed knowledge system. Solve query  q = (e,1)*(f,1)  submitted to System 2.

a            b
     c
         d        
f

	x1
	   2
	   1
	    2
	    1
	    1

	x2
	   3
	   1
	    1
	    2
	    0

	x3
	   1
	   2
	    2
	    1
	    1

	x4
	   2
	   1
	    1
	    1 
	    1

	x5
	   1
	   1
	    2
	    2
	    0

	x6
	   3
	   2
	    1
	    2
	    1

	x7
	   2
	   2
	    1 
	    1
	    0


System 1.


a            e
     c
         d        
g

	y1
	   1
	   1
	    2
	    1
	    1

	y2
	   2
	   1
	    2
	    2
	    0

	y3
	   1
	   2
	    2
	    1
	    1

	y4
	   1
	   1
	    1
	    1  
	    1

	y5
	   3
	   1
	    2
	    2
	    0

	y6
	   3
	   1
	    1
	    2
	    1

	y7
	   3
	   2
	    2
	    2
	    0


System 2.

Problem 2:  Assume that {Table 1, Table 2} represents distributed knowledge system. Find all certain and possible objects in Table 2  satisfying user query  q = (age,m-age)*(d,2)*(f,1). For a definition of a non-local attribute as well as definition of attribute “age” under user semantics contact Table 2. Assign the confidence to all objects retrieved.

age            b
     c
         d        
f

	x1
	 young
	   1
	    2
	    1
	    1

	x2
	 m-age
	   1
	    2
	    2
	    0

	x3
	 young
	   2
	    2
	    1
	    2

	x4
	 m-age
	   1
	    1
	    2  
	    1

	x5
	  old
	   1
	    2
	    2
	    0

	x6
	  old
	   2
	    1
	    2
	    1

	x7
	 m-age
	   2
	    1 
	    2
	    2


Table 1.


age            e
     c
         d        
g

	y1
	   13
	   1
	    2
	    1
	    1

	y2
	   40
	   1
	    2
	    2
	    0

	y3
	   12
	   2
	    2
	    1
	    1

	y4
	   20
	   1
	    1
	    1  
	    1

	y5
	   58
	   1
	    2
	    2
	    0

	y6
	   62
	   1
	    1
	    2
	    1

	y7
	   70
	   2
	    2
	    2
	    1


Table 2.

Assume the following semantics for attribute age:  In user semantics and in Table 1 semantics, the meaning of young is  [1- 25], m-age is [26-65] and old is [66-…].

Also, we assume that integers are the smallest granules for attribute age which means that Dom(age) in Table 2 contains the smallest granules.    
